8/7(K) FHAGBIFA =~ + Y —F [6/303R1#]

EFH HhF%& 27 7HDCP
1l=H *F 74% k03 12
218 AR IZERRE! 12
3 /AR wmiE 7H% 3vkn 1
451 B— THYY 4T 9
HiERE & 45 kny 14
6 BH BX 194 79% 9
TEH = 195 747 10
3 HE f&— A% TAF 14
9 FE Lk AY7R 4t 13

10|fREE 1EfC VAL 7
1114108 &% AR AN 13
12018 == IN 2 IR 15
13I8 = IN X M 12
14 =1 B 2R AN 14
15| Th— AL 294F 14
16| KR)I1 E— TEh7 vHhA 8
17\xB %= A5 4hy 12
18K RYUR FFh/ 1V 10
19/1\8 EiF */ 293 12
20\/\E¥H  A0ER )58 hA T 5
21=H & 2 M IIN 12
22 \BsH & DYLT 3979 14
23|k RE VA= 15
24| BEH R UESZEE VN 9
25| RHE X 9w 11
26 dbr fETF 247 #37 15
27/cF B IV VAL 13
28 |2 l% 5B VoRUER Ve 4
29| B id 773 A9% 15
30 82 BA JoiE b 11
31|HE  1ERK I vy 15
32\ SEE 1 by Ry 14
33/hvb BR Y7 b 14
3lfE4LA KR —hk W H2 1Y 15
35\ EEfE kK VIR 8
365857k fB 2V IVINA 11
37EK K VIR khl 12
B EE R yah g 3v% 11
395 #F A eva 12
0EE BX ANY TYE 15




8/7(K) FHAGBIFA =~ + Y —F [6/303R1#]

41423 % VAV 15
42|85k BE AR ¥ H43 14
13| E BT F v T 11
441 RN ABE YVLVEEY 12
45\ mH BX ahat b73 12
46 &% KN an) & AT 11
47BN FK AHvY €7 4 15
A8|HE TR B 747 14
9B —% AFN FHA T 15
50855 E&ah VNI 11
51|3FA &R TIhT BT 11
h2/%)Il EF Thh 7 3Ya 11
53| hE RES FhoR Lkt 7
b4\ HlE EX ARV 9
5| KRB A Y by 5
56|l E— Thyy 1447 9
57\F8F K YA X AR 11
58| Pl TR =Y7% M 15
oM fE= nNg )7 1% 6
60| M EBT Nath 3F3 14
61 EH & R ¥ 15
62| HE FHHA b/ 7 T 10
63T B’— k3y rvy 6
64| BH = 794 %3y 9
65|18 ¥ 774 373 13
66| Bl & VAR Y] 14
67| e &L 7Y A= YAy 13
68 fHEF HAA /) Mhy 5
69 JEA et 9T 7 % 15
703L tBEZ VAYY FAY 14
11AKR X WE ST 10
2=8 IEE v w3 14
73\ %A NEVM 13
T4|FR TXE /Y 8
5\ %L EZ )Yy a9y 12
76| AlE  BEX \ARINTS 6
7T7WHR E— Y8 vand¥ 11
78| hA BN YOEh TARY 10
79|EEH EDYAVANA 11
B0 BE X T T Y 13

B+EE/ AR




